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(A) BENZ LB NH100kN/MZERBZ DREBDOBED 51 DB KIEKN/ 1) (E) BN IMERZ DR B DHEED N DRABEKN/) 2 ITHXERARUZENISHIBREEZHT S s KA
z ) mziEZ RAMEKN/M =SMN3mEEZ & RAMEKN/m ks Rl U SEsm7 — —— :
B) AP LHEEWIERT HBED T AZEDES(m) (F) (B 4R RS BB ) L% DB &(m) %ﬁ?gﬁ%ﬁ_égfﬁi‘ﬂ?t%%if_ﬁ@ mﬂ T 7E #b i SR T B ET Kt
(C) BBEN=LZHH100kN/ ML T DR BHDFEEND F DB KIEKN/ m) (G) HEEIIMUTORBOHFED DB KIEKN/m) BAMEN=1d- " rHMI,-.:_ =1H Pri-tm AT
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(A) B) (©) (D) (E) (F) (@) (H) (A) (B) ©) (D) (E) (F) (@) (H)
(1) 107.4 1.0 100.0 1.0 - - 10.9 2.2 107.4 1.0 98.5 1.0 — - 10.9 2.2
( 2) - - 95.3 1.0 - - 8.5 1.7 - - 95.3 1.0 - - 85 1.7
( 3) - - 929 1.0 - - 10.0 2.0 - - 929 1.0 - - 10.0 2.0
( 4) - - 75.9 1.0 - - 113 2.2 - - 75.9 1.0 - - 1.3 2.2
2/ 2 ERE




